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2) ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU

1) Ooìhm {H$‘Vt‘Ü ò gmVË`nyU© dmT> Xadfu gw‘mao 10 Q> o̧$ AgVo Voìhm Ë`mbm ‘hmJmB© åhUVmV.
1) YmdUo 2) hm`na 3) am§JUo 4) MmbUo

1) When the sustained rise in prices is about 10 per cent per annum, it is called inflation.

1) Running 2) Hyper 3) Creeping 4) Walking

2) ...... Mo à‘mU WoQ> gmd©O{ZH$ {dVaU àUmbrÀ`m dMZ~ÕVoer OmoS>bobo Amho.
1) ‘mJUr 2) nwadR>m 3) IaoXr 4) AÞgmIir

2) The quantum of is directly linked with the commitments of the public distribution system.

1) demand 2) supply 3) procurement 4) food chain

3) Imbrbn¡H$s H$moUVo KQ>H$ CËnmXZ IMm©da n[aUm‘ H$aV ZmhrV?
1) OZaoQ>a H$m ©̀j‘Vm 2) B§YZ IM©
3) Ag§Vw{bV ^ma 4) Q´mÝg{‘eZ ZwH$gmZ

3) Which of the following factors does NOT influence the generating cost ?

1) Generator efficiency 2) Fuel cost

3) Unbalanced load 4) Transmission losses

4) Imbrbn¡H$s H$moUVm BZnwQ>‘Yrb bhmZ ~Xb ^m{Jbo AmCQ>nwQ>‘Yrb g§~§{YV ~XbmZo g‘mZ Amho?
1) ‘yb ŷV dH«$ Xa 2) `mo½` B§YZ Xa
3) dmT>rd B§YZ Xa 4) geV© dH«$ Xa

4) Which of the following is equal a small change in input divided by the corresponding change in

output?

1) Fundamental curve rate 2) Corrected fuel rate

3) Incremental fuel rate 4) Conditional curve rate

5) gmd©O{ZH$ {dVaU ì`dñWoVyZ nmÌ Zgboë`m Hw$Qw>§~m§Zm H$mTy>Z Q>mH$Ê`mgmR>r àm{áH$a {ZYm©aH$mMm {ZH$f dmnaÊ`mMm
gaH$maMm ‘mZg Amho.
1) Jhÿ 2) Vm§Xyi 3) gmIa 4) Jhÿ, Vm§Xyi Am{U Vob

5) The Government intends to use the income tax assessee’s criterion to eliminate non-eligible

families for from public distribution system.

1) Wheat 2) Rice 3) Sugar 4) Wheat, rice and oil

6) ^maVmÀ`m 2022-23 À`m Am{W©H$ gd}jUmZwgma, J«mhH$ AÞ qH$‘V {ZX}em§H$ (CFPI) da AmYm[aV AÞ ‘hmJmB©
Am{W©H$ df© 2022 ‘Ü ò 3.8 Q>³³`m§dê$Z 2023 ‘Ü ò 7 Q>³³`m§da nmohmoMbr. XadmT>rgmR>r gdm©V OmñV O~m~Xma
Agboë`m XmoZ à‘wI MmbH$m§Mr {ZdS> H$am Am{W©H$ df© 2023 ‘Ü ò AÞYmÝ` ‘hmJmB©V.
1) ‘m§g Am{U ‘mgo Am{U Xw½YOÝ` nXmW©
2) ‘gmbo Am{U ’$io
3) H$S>YmÝ ò Am{U Ë`mMr CËnmXZo Am{U ‘gmbo
4) V¥UYmÝ ò Am{U Ë`mMo CËnmXZ Am{U XyY Am{U Ë`mMo CËnmXZ
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6) As per Economic survey of India 2022-23, food inflation based on Consumer Food Price Index

(CFPI) climbed to 7 per cent in financial year 2023 from 3.8 per cent in financial year 2022.

Select the two top most drivers responsible for hike in food inflation in FY 2023.

1) Meat & Fish and Milk Products

2) Spices and Fruits

3) Pulses & its products and spices

4) Cereals & its product and milk & its product

7) ^maVmVrb AÞ g‘ñ òMo Imbrbn¡H$s H$moUVo n¡by AmhoV/AmhoV?
1) n[a‘mUmË‘H$ n¡by 2) JwUmË‘H$ n¡by
3) AÞYmÝ`mÀ`m MT>çm {H$‘Vr {d. H«$`eº$s 4) `m gd©

7) Which of the following is/are the aspects of food problem in India ?

1) Quantitative Aspects 2) Qualitative Aspects

3) High prices of food grains Vs. Purchasing power 4) All of these

8) 1990 ‘Ü ò Staatz Zo XrK©H$mbrZ AmYmamda ImÌr XoÊ`mMr j‘Vm Aer ì`m»`m Ho$br Amho H$s AÞ àUmbr EHy$U
bmoH$g§» òbm doioda, {dídmgmh© Am{U nm¡{ï>H$Ñï²>`m nwaoem AÞ nwadR>çmgmR>r àdoe àXmZ H$aVo.
1) gmd©O{ZH$ {dVaU ì`dñWm 2) AÞ gwajm
3) aoeqZJ ì`dñWm 4) AÞ gwajm

8) Staatz in 1990 defined as the ability to assure on a long term basis, that the food system provides

the total population access to a timely, reliable and nutritionally adequate supply of food.

1) Public distribution system 2) Food safety

3) Rationing system 4) Food security

9) AÞ gwajm Am{U ‘mZH$ H$m`Xm 2006 Zwgma AÞ åhUyZ n[a^m{fV Ho$boë`m {d{dY nXmWmªn¡H$s Imbrb AmhoV/AmhoV.
a) AZwdm§{eH$[aË`m gwYm[aV qH$dm A{^`m§{ÌH$s AÞ b) AÞ CnMma H$aVmZm dmnabobo nmUr
c) {Od§V àmUr d) Am¡fYo Am{U Am¡fYr CËnmXZo
darbn¡H$s H$moUVo/`mo½` AmhoV?
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) darb gd©

9) Following is/are among the various substances defined as “Food” according to “Food Safety and

Standards Act 2006”.

a) Genetically modified or engineered food b) Water used during treatment of food

c) Live animals d) Drugs and medicinal products

Which of the above is/are correct ?

1) a only 2) a and b only 3) a,b and c only 4) All of the above

10) AÞnyUm© ¶moOZoMo cm^mWu H$moU AmhoV ?
1) emioVrc ‘wcr 2) àmg§{JH$ H$m‘Jma
3) amï´>r¶ d¥ÕmnH$mi {Zd¥Îmr doVZ ¶moOZoImcr ZmhrV Ago Á¶oð> ZmJ[aH$ 4) {Zd¥Îm g¡{ZH$

10) Who are the beneficiaries of Annapurna Yojana ?

1) School girls

2) Casual labours

3) Senior citizens who are not under National Old Age Pension Scheme

4) Retired soldiers
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11) {deofV: AÞYmÝ`mÀ`m Q>§MmB©À`m H$mimV {H$‘Vr dmT>dÊ`mMm à`ËZ H$aUmè`m ì`mnmar Am{U ì`mdgm{`H$m§{déÕ
à{VH$ma §̀ÌUm åhUyZ H$m‘ H$aUo hm KQ>H$m§n¡H$s EH$ Amho.
1) AÞ gwajm 2) ~’$a ñQ>m°H$
3) gmd©O{ZH$ {dVaU ì`dñWm 4) AÞ gwajm ì`dñWm

11) To act as a countervailing mechanism against traders and businessman who try to push up prices,

especially during periods of shortage of food is one of the component of

1) food safety 2) buffer stock

3) public distribution system 4) food security system

12) EH$ Z‘wZm Á`m‘Ü ò "n' doJdoJù`m ẁ{ZQ²gÀ`m àË òH$ g§̂ mì` Z‘wÝ`mMr {ZdS> hmoÊ`mMr g‘mZ g§Yr AgVo Á`m‘Ü ò
Z‘wZm {ZdS>Ê`mMr g‘mZ g§Yr XoIrb gy{MV hmoVo.
1) AY©-`mÑpÀN>H$ Z‘wZm 2) gmYo `mÑpÀN>H$ Z‘wZm
3) ñVarH¥$V `mÑpÀN>H$ Z‘wZm 4) ‘ëQ>rñQ>oO `mÑpÀN>H$ Z‘wZm

12) A sampling in which each possible sample of ‘n’ different units has an equal chance of being

selected which also implies an equal chance of selection into the sample is called as

1) quasi-random sampling 2) simple random sampling

3) stratified random sampling 4) multistage random sampling

CÎmao … 2) ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU
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